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SUBROUTINE GAUJOR(N,M)
COMMON/AA/A(80,81)}

DO 10 Ks=i,N

Px0.0

DO 20 1K

tr(P.0%, AIS(AI! K}}} 6o TO 20
p-Ans(A(x [3})

Ls 18
CONTINUI 10
DO 40 J=l,K c
T=A(K,J)

A(K,J)=A(L, )

Af{L,J)sT

CONTINUE

P=A(K,K)

40

DO 50 J=K .M 20

.
MK, 3)=ACK, 31 /P c
CONTINUE
DO 60 Ix1,

80

IF(I.8Q. K) 00 TO 60
Q=A(1,K)

DO 70 J=x

ALL, J)tMl J)-AlK,J)%Q
CONTINUE

CONTINUE

CONTINUR

#-2

70

10 3s

30
END

HETH5, £, LUDBIELERARYMNIERIDPRLIEHTH S, &— 2 Ic6auss-Jordanik, &
- 312 LUS#EDSubrutine® =3,

SUBROUTINE LUBIN)
CO)IHONIAA/A!ISO 160),U(160),B(180),NST(180},L3T(1860)
DO 10 Ist,
10 Js=t,
IP(I EQ. 1 00 TO 10
DO 18 Ks1,I-1
AL, 3)% A(l J) {A(K, T)ISALK, T} /AK,K) )
CONTINUE

DO 20 Isl,N
U{I)=B(1}/A(1,1)
IP(1.EQ.1) GO TO 20
DO 26 Jal,I-1
U{I)aU{T)-ALT, T}/ALL, TDO0(T)
CONTINUE

Xs0

DO 30 Tal,N

IIsN-KX

KsK+1

IF(I1.EQ.N) GD T0 30
Do 36 IslX,N-

Lalds

U(III-U(H) ACTT,LI/A(TILITIU(L)
CONTINUE

RETURN

END

®£-3

4. FEm
Fl(1) M-80&5% M7 AMEWICHLERICHE2T> (A5,
WHBE® A= 8.0 cof (28K —F) BEEHREK a= 1.2x10°°
v E E= 2.1xX10°
H# B = ®HM2icAt=+30°%C

1 X K B

h {kg)
1 <1656E+04
2 -.4141E+02
3 +1930E+04
4 .9651E+03
mi s sune L
P=O'A=£1 EA 8 .9921E+03
= 1.2X10"5X30°Cx2.1%x10¢x8.0
= 6048kg 2 B oA % &
u 1= »0000E+00 v 1= +0000E+00
u 2= <0000E+00 v 2= +0000E+00
u 3= +0000E+00 v 3= +0000E+00
% RS BAT D PEomeR o hoEEm
P’u= -6048%x40.0/44.721 = -5410kg > ® % = »
P’V= -6048x20.0/44.721 = -2705kg s 35 Iilstet § 0 ohsE

#-4

Check

H1=-1707x40.0/41.231=-1656kg
H2= 3890%40.0/44.721= 3479kg
H 3 =-1643x40.0/56.569=-1162kg
H4=-1192%40.0/72.111= -661kg

V 1 =-1707x40.0/41.231=-1656kg
V2= 3800x40.0/44.721 = 3479%¢
V 3 =-1643%x40.0/56.569=-1162kg
V 4=-1192x40.0/72.111= -661kg

ZH= 0.0kg 2V= 0.0kg
B=7  YrIDEEEEATHSENDIS,
M(2) WER. EERRM(1) LACET S,
B g £ HH2. 5lcAt=+30°C A hHh P=cA=&c:« EA = 6048kg

43 # P’u= -6048%C0S 60°
Check (#if2) 1)4h
> H=806.3+2621.0+3024.0+403.2 = 0.0kg OK X H=866.3+403.2+403.0
IV= 688.4 — 4540.0 — 698.0 = 0.0kg OK ZIV= 698.4 — 698.0
H-8. 10 EWONHEEFALTCEFMET 2L HE-8.20& 52k 5, TOMEE-5ITRT,

-5410kg P’V= -6048xSIN 60° = -2705kg

2) BE¥ %

i

a
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R H (kg)
.2218E+04
-.4539E+04
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+0000E+00
~.7680E-01
+1820E-01
-.3840E-01
«0000E+00
«3840E-01
~.1920E~01
+7680E-01
+0000E+00

L}

+4032E+03
-.4032E+03
.8063E+03
+8063E+03
~.80684E+03
-.B0S4E+03
+8064E+03
-.5242E+04

R R R R
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9=

10=
12=
14=

+0000E+00
+2439E+00
«1441E+00
«6651E-01
+D000E+00
+6651E-01
+1441E+00
+2439E+00
+0000E+00

~.4032E+03
«4032E4+03
-1613E+04
-.5242E+04
+8064E+03
~-.8064E+03
-.8084E+03
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A

1=
2=
3=
4=
5=
6=

X-E-N-E-¥-

nanon B

E I

S 04

«0000E+00
-.7680E-01
+1920E-01
~.+3840E-01
+0000E+00
. 0000E+00

L ]

<4032E+03
+8063E+03
-.5242E+04
+B064E+03

K h{kg}
+2218E+04
~.4539E+04
~.8064E+03
-, 5984E+03
+1613E+04
+0000E+00

<<$<<<<

nnunt

6=
8=

+0000E+00
«2439E400
+1441E+00
.6E851E~01
»DDQOE+00
+0000E+00

~.4032E+03

-1613E+04
~.8064E+03
-.8064E+03

—P

12x1200 = 144 000

1 B & K 5

DGR E -

E 5 )
-.1772E+06
-5907E+0S
-.1772E+06
-.5907E+05
+1772E+06
-.5907E+05
+1772E+06
«5907E+05

5. Ly

F— 1 OBBER (21— - XAV 6M0KB)

7% E= 2.1x10°
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=
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EECECE LR CCRRECGEECCRECREEOEEEERECREREREEER
o
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® f

.0000E+00
-9T18E+00
. 7558E+00
+1519E+00
-5905E+00
+4251E+400
<2025E+00
.3103E+00
+1958E+00
+1519E+00
+1315£+00
+673SE-01
+0000E+00
.5391E-01

~.4043E-01
«0000E+00
.5391E-01
+6739E-01
+1519E+00
1315E+400
.1956E+00
+2025E+00
.3103E+00
+4251E+00
+<1519E+00
.5905£+00
.7558E+00
.000DE+00

B®-9

Lk B # A=500.0ecd TFTHE# A=500cd Check HHE3I)
£ # A=2800cnt BB A=250.0 cnd
BRARE o= 1.2X10°°
# O 2 LEMIAt=+30C
EEZTXB3ANP P=gA=:, EA
= 1.2%107° X30°CX2.1X10° X500.0 = 378000kg

1) %

€e€LLLedgEeLdagdddCdCddddd4e<Cdcd<qddc<s

P L]

T=

-6

#  IH= 388000.0—289400.0X2XC0S 8

IV= 73840.0Xsin 8 —73840.0Xsin &
2) gk ZH=

Iv=

+0000E+00
-0000E+00
+3911E+00
«6682E+00
+G682E+00
+6973E+00
+6884E+00
+6884E+00
+5074E+00
+3644E+00
»3644E+00
+1253E+00
.0000E+00
+000Q0E+00
.3033E-01
+6065E-01
6065E-01
. 7076E-01
+B8087E-01
+BOBTE-01
.7076E-01
+6085E-01
.6065E-01
+3033E-01
+000QE+00
+0000E+00
+1253E+00
+3644E+00
.3644E+00
. 5074E+00
.6884E+00
.6884E+00
+B69TIE+QO
.8682E+00
.6682E+00
+3911E+00
.0000E+00

88600.0—73840.0X2XC0S 8

73840.0Xsin # —73840.0Xsin 8
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1= .1329E+08
3= ~.4430E+05
5= -.6763E-02
1= +2109E-02
9= ~,1329E+06
1= +4430E+05
+3T80E+06
+2894E+06
+2008E+06
+1122E+06
<2359E+05
<2359E+05
.2359E+05
<2359E+05
.2359E+05
+1122E+06
+2008E+06
. 2894E+06
+0000E+00
»7384E405
<T3B4E+05
<QO00E+00
-.T384E+05
+T3B4E+05
+0GOCE+Q0
+3508E-02
~.1665E-02
+0000E+00
-.3536E-02
+2738E-02
.0000E+00
«73B4E+05
~.T384E+05
.3912E-01
- T3B4E+05
-.7384E+05
.0000E+00

% 0.0kg OK
= 0.0 OK
% 0.0kg OK
= 0.0k OK

s 2= -4430E+05
8 4= -.1329E+08
S5 6= +2689E~02
S 8= -1965E-02
S10=  -.4430E+05
S12= «1329E+06
S 1d4= - ,2894E+06
S 16x= -,2008E+06
S18= -.1122E+08
S 20= -.2359E+0%
S 22= -.2)59E+0%
S24= ~.2359E+05
S 26=  -,2359E+0§
S 28=  -,2359E+05
S 30= -,1122E+06
S 32=  -,2008E+06
S 3= -.2894E+06
S 36= T80E+06
S 38= 3IB4E+0S
S 40= .0000E+00
S 4z= -.7384E+08
S4d= . 7384E+05
S 46= .1956E-01
S 48= -.7384E+0S
5 60= -.4378E-02
s &52= .0000E+00
S 54= <4197E-02
S 56= -,3990E-03
S 58= .0000E+00
S 60= -.8289E-02
5 62=  -,7384E+05
S bd= «1958E-01
S 66= «T384E+08
S 68= -.T384E+0S
5 70= .0000E+00
s572= .TIB4E+0S
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